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Direction : Answer the following questions

by

selecting the correct option.

1. The term ‘species’ was coined by
(A) Linnaeus
(B) John Ray
(C) Darwin

(D) None of them

2. In five-kingdom classification,
Chlamydomonas and Chlorella have

been included in the kingdom
(A) Protista

(B) Monera

(C) Algae

(D) None of the above

3. ‘Glycocalyx’ is

(A) alayer present between cell wall

and membrane of bacteria

(B) cell wall of bacteria

(C) alayer surrounding the cell wall

of bacteria

(D) None of the above

4. Protista differs from Monera

having

(A) cell wall

(B) nuclear membrane
(C) flagella

(D) None of the above
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Which one of the following is true for
fungi?

(A) They lack a rigid cell wall
(B) They are heterotrophs
(C) They lack nuclear membrane

(D) None of the above

Which  structure is not the
characteristic of mushrooms?

(A) Ascospore
(B) Basidiospore
(C) Dikaryotic mycelium

(D) None of the above

Which one of the following viruses
shows the presence of both DNA and
RNA in its life cycle?

(A) Reovirus

(B) Cyanophage

(C) Leuko virus

(D) None of the above

Which one of the following shows
isogamy with non-flagellated
gametes?

(A) Sargassum

(B) Ectocarpus

(C) Spirogyra

(D) None of the above
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The plant body is thalloid in
(A) Marchantia

(B) Sphagnum

(C) Funaria

(D) None of the above

Young sporophyte of ferns draws
nourishment from gametophyte
through

(A) root
(B) foot
(C) haustoria

(D) None of the above

The number of cotyledons in the
seed of Cycas is

(A) one
(B) two
(C) many

(D) None of the above

Choanocyte is found in
(A) Porifera

(B) Coelenterata

(C) Ctenophora

(D) None of the above
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The largest class of

Arthropoda is

phylum

(A) Arachnida
(B) Crustacea
(C) Hexapoda

(D) Chilopoda

Proboscis gland in Balanoglossus is
related to

(A) respiration
(B) circulation
(C) reproduction

(D) excretion

Which one of the following has true
placenta?

(A) Kangaroo
(B) Mongoose
(C) Platipus

(D) None of the above

Root cap is absent in
(A) hydrophytes

(B) mesophytes

(C) xerophytes

(D) None of the above
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17. When the stamens of a flower are 17. MNSRIEE sqIsreeesfer e =

fused by anthers only and the ?i@‘(@@%{ 2P SRR A, CIMOCF e
filaments remain free, the condition
is called (A) ﬂ@ T{W
(A) synandrous (B) g
B) polyandrous
( Y (C) T= M
(C) syngenesious
(D) Toead (@ADE

(D) None of the above

o , 18. IRSPA @1 I”
18. Caryopsis is found in

(A) sunflower (&) “Fgce

(B) maize (B) $OM

(C) pea (C) o

(D) None of the above (D) T @R

19. Colchicine is obtained from the
plant Colchicum autumnale. This
plant belongs to which family?

19. FABFN SORCTE  Sfew  (ACF  FEAMDOT
N T | G2 Tfewlb (I (TAPS ?

(A) Solanaceae (A) CTEICD
(B) Fabaceae (B)

(C) ComeEsh
(C) Poaceae

(D) ferfercsit

(D) Liliaceae

20. faa R TRl @ §'Ks, Cs, As5,Gp
20. Which of the following plants shows LTS (el T¢I 2

floral formula ® ¢'Ks, Cs, As, G)?
(A) o=
(A) Cumin
(B) Tulip (B) 7
(C) Soya bean (C) e
(D) None of the above (D) TR @FEbE T
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Increase in the length of petiole
results from the division of

(A) apical meristem
(B) lateral meristem
(C) intercalary meristem

(D) None of the above

Vascular tissues in flowering plants
develop from

(A) periblem
(B) plerome
(C) dermatogen

(D) None of the above

The arrangement of xylem in stem of
angiosperm is

(A) endarch
(B) exarch
(C) mesarch

(D) Both (A) and (B)

Collateral open vascular bundles
and eustele are found in

(A) monocot stem
(B) monocot root
(C) dicot stem

(D) dicot root
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The functions of secretion of tear,
milk, sweat and oil are carried out

by

(A) lymphoid

(B) loose connective tissue
(C) epithelial tissue

(D) nervous tissue

Among the following which one is a
specialised connective tissue?

(A) Bone
(B) Muscle
(C) Fibroblast

(D) None of the above

Which one of the following pairs of
structures distinguishes nerve cells
from other types of cells?

(A) Vacuoles and fibres

(B) Nucleus and mitochondria

(C) Flagella and medullary sheath

(D) Perikaryon and dendrites

The outer covering of cartilage is
called

(A) peritonium
(B) periostium
(C) perichondrium

(D) None of the above
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In cockroach, oothecae are formed
by the secretion of

(A) mushroom gland
(B) conglobate gland
(C) collateral gland

(D) None of the above

The digestive juice in cockroach is
secreted by

(A) Malpighian tubules
(B) hepatic caeca
(C) gizzard

(D) crop

Which of the following is always
absent in prokaryotic cells?

(A) Mitochondria
(B) Cell wall
(C) Ribosome

(D) None of the above

Which of the following is not covered
by membrane?

(A) Lysosome
(B) Mesosome
(C) Ribosome

(D) Vacuole
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Fernandez-Morgan
found in

particles are

(A) centriole

(B) mitochondria
(C) lysosome

(D) Nucleus

Fluid mosaic model of plasma
membrane was proposed by

(A) Watson and Crick
(B) Schleiden and Schwann
(C) Alfonso Corti

(D) Singer and Nicolson

Movement of cytoplasm around a
vacuole is called

(A) rotation
(B) circulation
(C) somersault

(D) None of the above

Which of the following is a
homopolysaccharide?

(A) Heparin
(B) Pectin
(C) Inulin

(D) Hyaluronic acid
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Which one of the
imino acid?

following is an

(A) Pepsin
(B) Proline
(C) Renin

(D) Cysteine

A non-proteinaceous enzyme is
(A) ligase

(B) deoxyribonuclease

(C) lysozyme

(D) ribozyme

Cell division cannot be stopped in
which phase of cell cycle?

(A) S-phase
(B) Gi-phase
(C) Gy-phase

(D) Prophase

56 cells are produced in meiosis in
which

(A) first division is reductional
(B) second division is reductional
(C) first division is equational

(D) None of the above
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How many equational divisions are
necessary in a cell of onion root tip
to produce 256 cells?

(A) 64

(B) 255

C) 8

(D) None of the above

During cell division, a cell plate is
formed at which of the following
stages?

(A) Interphase
(B) Cytokinesis
(C) Karyokinesis

(D) None of the above

Syncytium (coenocyte) formation

takes place when

(A) karyokinesis is
cytokinesis

followed by

(B) cytokinesis does not follow

karyokinesis
(C) karyokinesis not occurs

(D) None of the above

The longest phase of meiosis is
(A) Prophase I
(B) Prophase II
(C) Anaphase II

(D) Metaphase I

12
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Which of the following is not a
characteristic feature of mitosis?

(A) Movement of chromosome
(B) Synapsis
(C) Spindle fibre

(D) None of the above

The lowest water potential is found
in

(A) root hairs
(B) leaves
(C) xylem

(D) phloem

When the concentration of solutes is
low in plant cell, absorption of water
is

(A) increased

(B) decreased

(C) absent

(D) None of the above

Stomata open at night in
(A) succulents

(B) hydrophytes

(C) halophytes

(D) None of the above
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49. Which one is a group of

micronutrients in plants?
(A) Fe, Mn, Cu, O, C

(B) Ca, Mg, Fe

(C) Fe, Mn, Cu, Mo, Zn

(D) None of the above

50. Which one of the following is a

free-living and anaerobic nitrogen
fixer?

(A) Beijerinckia

(B) Rhodospirillum

(C) Rhizobium

(D) Azotobactor

51. Enzyme nitrogenase converts

atmospheric into

ammonia

nitrogen

ammonia into nitrate and nitrite
nitrate to nitrite

None of the above

52. The example of a water-soluble plant

pigment is
(A) chlorophyll a
(B) chlorophyll b

(C) anthocyanin

(D) xanthophyll

/16 14
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53. The process which makes major 53. @ “mfeiod IR C; @R C4 A

difference between C3 and C4 plants 241 212 e 77, @b 25
is
(A) 7
(A) respiration
(B) ICeT<e #7e
(B) photorespiration
C) (Feree b
(C) Calvin cycle (©
(D) aMRCFTRHT

(D) glycolysis

54. Non-cyclic  photophosphorylation | 9% S DeFIPI FCORPICRITIRCETIC T 2

results in the production of
(A) ADP
(A) ADP
(B) ATP
(B) ATP
(C) ATP @t NADPH
(C) ATP and NADPH
(D) ATP, NADPH @3 GDP

(D) ATP, NADPH and GDP

55. (@1 & WIEd  SHTeH  2IRCgeH
55. In Krebs’ cycle, the hydrogen of 5j2Te 27
malic acid is accepted by

(A) FMN =<1

(A) FMN

(B) CoA =1
(B) CoA

(C) FAD =<l
(C) FAD

(D) NAD =i
(D) NAD

56. The last electron acceptor in ETS S6. 5 ; T e : St

(Electron Transport System) is o1 =4
(A) oxygen (a) e
(B) cytochrome c (B) STIRCVICEN ¢
(C) cytochrome aj (C) TRCOICEFN a3
(D) water (D) e
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When tripalmitin is
substrate, the value of RQ is

(A) 07
(B) 10
(C) 16

(D) None of the above

Which of the following elements is
essential for evolution of oxygen
during photosynthesis?

(A) Mg

(B) Mn

(C) Fe

(D) None of the above

During aerobic respiration acetyl
CoA is synthesised in

(A) cytosol
(B) glyoxysomal matrix
(C) mitochondrial matrix

(D) None of the above

Cytokinin is not found in
(A) root apex

(B) shoot apex

(C) young fruits

(D) mature fruits

respiratory
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Which one of the following functions
in plant is not effectively controlled
by auxin?

(A) Photosynthesis

(B) Phototropism

(C) Growth

(D) Apical dominance

Genetically dwarf plants may be
induced to grow tall by the
application of

(A) auxin

(B) gibberellin

(C) cytokinin

(D) None of the above

Seeds of winter varieties are
benefited by which of the following
methods?

(A) Senescence

(B) Photoperiodism

(C) Vernalisation

(D) None of the above

The middle
intestine is

part of the small

(A) jejunum
(B) duodenum
(C) ileum

(D) None of the above
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65. Deficiency of which vitamin causes 65. (FIq SOIMNAGT Seid  (FIICOINIIEIRI
keratomalacia? 7
(A) Vitamin K (A) febifim K
(B) Vitamin D (B) B D
(C) Vitamin E (C) B E
(D) Vitamin A (D) I A
66. Entry of the food into the larynx is z e
prevented by which of the following? 66. HFIN® RS TR AT
2ATICT 1T vl FCI?
(A) Diaphragm
(A) TRIFN
(B) Epiglottis
(B) «@fafoa
(C) Frenulum
(C) TN
(D) None of the above
(D) TR @be T
67. Respiratory rhythm centre is
present in the 67. P-TY (FUH TAFS I
(A) cerebrum (A) CIREE
(B) cerebellum (B) CIR@
(C) medulla oblongata () GTwel ¥ FRABICS
(D) hypothalamus (D) =feeen
68. The enzyme carbonic anhydrase is o~
present in 68. IHFT FEYGH TR THFS wIR
(A) blood plasma (A) @&l [eT
(B) platelets (B) CEBCETD
(C) RBC (C) RBC(®
(D) WBC (D) WBC(®
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Which blood vessel in mammals
normally carries largest amount of
urea?

(A) Hepatic vein
(B) Renal vein
(C) Renal artery

(D) Hepatic portal vein

The part of nephron which opens
into the collecting duct is

(A) Henle’s loop
(B) distal convoluted tubule
(C) Both of the above

(D) None of the above

The volume of urine is regulated by
(A) testosterone

(B) aldosterone

(C) testosterone and ADH

(D) aldosterone and ADH

Haversian canal is present in
(A) teeth

(B) muscle

(C) bone

(D) None of the above
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Which of the following has oxygen
storing capacity?

(A) Myoglobin
(B) Actin
(C) Myocin

(D) None of the above

The junction of axon and dendron is
called

(A) synaptic knob
(B) synapse
(C) synaptic vesicle

(D) None of the above

Colour blindness is due to the defect
in which of the following?

(A) Rhodopsin
(B) Rods
(C) Comnes

(D) None of the above

Which one of the following secretes
somatostatin?

(A) Bruner’s gland
(B) Pituitary gland
(C) Parathyroid gland

(D) Islet of Langerhans
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Excess of which of the following
hormones causes Cushing’s
syndrome?

(A) Thyroxine

(B) Cortisol

(C) Adrenaline

(D) Calcitonin

Sporopollenin, a chemical substance
is found in

(A) exine of pollen grain
(B) intine of pollen grain
(C) tapetum of anther

(D) None of the above

The point of attachment of funiculus
with main body of ovule is

(A) integument
(B) chalaza
(C) hilum

(D) micropyle

Which one of the following
pollinations is autogamous?

(A) Xenogamy
(B) Cleistogamy
(C) Chasmogamy

(D) None of the above
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In monocotyledonous
cytoledon is called

plants,

(A) epicotyl
(B) plumule
(C) radicle

(D) scutellum

Testa of a seed is produced from
(A) outer integument of ovule
(B) inner integument of ovule
(C) wall of ovary

(D) hilum

The number of chromosomes in root
cells of a plant is 42. What will be
the number of chromosomes in each
of its synargids?

(A) 14

(B) 42

(C) 21

(D) None of the above

The shortest phase of menstrual
cycle is

(A) ovulatory phase
(B) luteal phase
(C) menstrual phase

(D) None of the above
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Which of the following hormones is
not secreted by human placenta?

(A) Estrogen
(B) Prolactin
(C) hCG

(D) hPL

The hormone responsible for uterine
contraction during parturition is

(A) relaxin
(B) oxytocin
(C) vesopression

(D) None of the above

What is the site of fertilisation in
mammals?

(A) Cervix
(B) Uterus
(C) Vagina

(D) Fallopian tubes

Acrosome of sperm is derived from
(A) Golgi bodies

(B) endoplasmic reticulum

(C) lysosome

(D) None of the above
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Medical termination of pregnancy
(MTP) is considered safe up to how
many weeks of pregnancy?

(A) Six weeks

(B) Eight weeks

(C) Twelve weeks

(D) None of the above

In which technique, the donor
semen is artificially introduced into
the uterus?

(A) Intra-vaginal insemination

(B) Intra-uterine insemination

(C) Gamete intra-fallopian transfer

(D) None of the above

Phenotypic and genotypic ratio in Fy
generation is similar in case of

(A) incomplete dominance
(B) complete dominance
(C) overdominance

(D) None of the above

‘Phenylketonuria’ is an example of
(A) polygenic inheritance

(B) multiple factor

(C) epistasis

(D) pleiotropy

24

89.

90.

91.

92.

GET IT ON
Google Play

TSRER F© AYE /@ MTP (e
BRfCTE =) csRrS) [T oaréere fEem
T 22

A) = AYR
(B) b AA=
(C) < 72

(D) TR @R T

fraffie @ smfecs mer W Flared
GARCS T T D2

(A) THI-SreiEee ST
(B) THI-2TCHAE T
(C) oWICHD THI- R GroTerd
(D) Toeaa (12 =T

e (@FEbre (TR @R
CECIBRPP SATS qT2 T3 2

(A) =P 2/phwl
(B) 7 2rpbl

(C) SfezFoe!

(D) TR @R T

@lfs e

(IS (S S WaS—Wa\ 9
[RPeTI26TI<PCO[ [ O[]

@0 TR 2

(A) “Ifercefa TCEfReel
(B) B[ #7139

(C) QFIBRP

(D) fared


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

93.

94.

95.

96.

97.

/16

‘Barr body’ is present in
(A) sperm

(B) ovum

(C) somatic cell of female

(D) somatic cell of male

Mutation which alters nucleotide
sequence within a gene is

(A) frameshift mutation
(B) base pair substitution
(C) Both (A) and (B)

(D) None of the above

Mendel in his experiment did not
observe linkage due to

(A) crossing-over
(B) independent assortment
(C) mutation

(D) None of the above

What will be the percentage of
guanine in a dsDNA molecule having
20% adenine?

(A) 20%
(B) 30%
(C) 40%

(D) None of the above

The sequence of structural gene in
‘lac operon’ concept is

(A) lac Z, lac Y, lac A
(B) lac Z, lac A, lac Y
(C) lac A, lac Y, lac Z
(D) lac Y, lac Z, lac A
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The probe used in DNA

fingerprinting is

(A) unknown single stranded
labelled DNA

(B) unknown  double  stranded

labelled DNA

(C) known single stranded labelled
DNA

(D) known double stranded labelled
DNA

Ribosomal RNA is

synthesised in

A

actively

nucleolus

© =

) nucleoplasm

@)

) nuclear membrane

—_— e~ e

D) None of the above

The region of DNA sequence that
provides initial binding site for RNA
polymerase is

(A) terminator

(B) structural gene
(C) origin sequence
(

D) promoter

Who influenced Darwin in
formulating the theory of evolution
by Natural Selection?

(A) A. I. Oparin

(B) T. R. Malthus
(C) Hugo de Vries
(D) None of them

Cenozoic era is the age of

A) mammals

" =

reptiles

e

amphibians

D) fishes

— e
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Which type of evolution is shown by
homologous organs?

(A) Specific evolution
(B) Convergent evolution
(C) Divergent evolution

(D) None of the above

Species  inhabiting the same
geographical area are known as

(A) sympatric species
(B) allopatric species
(C) synchronic species

(D) allochronic species

Hominids originated during
(A) Oligocene
(B) Miocene
(C) Pliocene

(D) Paleocene

Which one of the following is nearer
to human on the basis of cranial
capacity?

(A) Cro-Magnon man

(B) Java man

(C) Peking man

(D) Neanderthal man
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The degree of pathogenicity of a
microorganism is called

(A) severity
(B) prevalence
(C) virulence

(D) predisposition

The first antibody to appear in the
serum following stimulation by
antigen is

(A) IgG

(B) IgM

(C) IgA

(D) IgE

Infectious proteins are present in
(A) gemini viruses

(B) viroids

(C) prions

(D) satellite viruses

The drug ‘marijuana’ is obtained
from

(A) Cannabis sativa
(B) Papaver somniferum
(C) Atropa belladona

(D) Datura alba
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Motile zygote of Plasmodium occurs
in

(A) human RBC
(B) human liver
(C) salivary gland of Anopheles

(D) gut of female Anopheles

Which one of the following diseases
is caused by a protozoan?

(A) Blastomycosis
(B) Babesiosis
(C) Influenza

(D) Mumps

Which one of the following is a viral
disease of poultry?

(A) Coryza
(B) Salmonellosis
(C) Newcastle disease

(D) Pasteurollosis

Triticale is developed through
intergeneric hybridisation of

(A) wheat and barley
(B) wheat and rice
(C) wheat and rye

(D) None of the above
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Which one of the following diseases
is caused by Nosema bombycis in
mulberry silkworm?

(A) Pebrine
(B) Muscurdine
(C) Grasserie

(D) Flacherie

In protoplast
required are

fusion, enzymes

(A) pectinase, hemicellulase

(B) ligase, cellulase and

hemicellulase

(C) cellulase, hemicellulase and

pectinase

(D) None of the above

Lactic acid bacteria converts milk
into curd and improve its nutritional
quality by increasing

(A) vitamin A
(B) vitamin By
(C) vitamin Bg

(D) vitamin C

Aspergillus niger is used for

commercial production of
(A) butyric acid

(B) acetic acid

(C) lactic acid

(D) citric acid
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CD4 receptor is associated with
(A) AIDS

(B) cancer

(C) pneumonia

(D) malaria

Sports persons frequently abuse the
drug known as

(A) methadone
(B) amphetamine
(C) cocaine

(D) psilocybin

Which vector can clone only a small
fragment of DNA?

(A) Cosmid
(B) YAC
(C) Plasmid

(D) None of the above

During gene cloning, the enzyme
used to join the DNA with plasmid
vector is

(A) restriction endonuclease

(B) exonuclease

(C) DNA polymerase

(D) DNA ligase
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123. A vector for cloning gene in plant is 123. Tfewm fom @IfiR-99 oo Ac@sar «3io

(S39 2
(A) Rhizobium

(A) ARCHRIN
(B) Agrobacterium

(B) SUICRIICER
(C) Pseudomonas

(C) PrETecamP
(D) Azotobactor D) .

124. Blottmg techmqge . used  for 124. @5 a5 0w @ =R 5
separation of protein is called
ST T =, G 2

(A) eastern blotting (A) B35 7l
(B) western blotting (B) SR AR
(C) northern blotting () e 752
(D) southern blotting (D) >Tewe #fbe

125. GAATTC is the recognition site for | 125. (3l &Rl 160 DI FIRATE

which restriction endonuclease? @O 7136 2o GAATTC ?
(A) Eco RI (A) Eco RI

(B) Hind III (B) Hind III

(C) Bam I (C) Bam I

(D) Hae III (D) Hae III

126. f&= =11 “rafoce @ib7f femes afe®iem

126. The vector generally used to replace A o (@ (OFF MRS 97 =7 (15
the defective gene in gene therapy is

27
(A) Ri plasmid (A) Ri 2PES
(B) Ti plasmid (B) Ti 2P
(C) cosmid (C) e
(D) adenovirus (D) SISz
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‘Gray biotechnology’ is related to
(A) agricultural process

(B) aquatic process

(C) industrial process

(D) medical process

Salt tolerant transgenic has been
developed for

(A) potato
(B) tomato
(C) brinjal
(D) None of the above
In transgenics,

transgene in
determined by

expression  of
target tissue is

(A) reporter
(B) promoter
(C) enhancer

(D) transgene

Human insulin was synthesised for
the first time by

(A) D. W. Salter
(B) L. B. Crittenden
(C) Tsan

(D) None of them
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A person suffering from which
disease should include Golden rice
in his diet?

(A) Diabetes
(B) Anaemia
(C) Beriberi

(D) Night blindness

The technique of production of
monoclonal antibodies was
developed by

(A) Friedrich Miescher
(B) Milstein and Kohler

(C) Stanley Cohen and Herbert
Boyer

(D) None of them

The study of the relation of an
organism with its environment is
called

(A) bionomics
(B) autecology
(C) herpetology

(D) synecology

Most of the animals that live in deep
oceanic water are

(A) tertiary consumers
(B) secondary consumers
(C) detritivores

(D) decomposers
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If in a food chain the energy
produced at the level of the
producers is 1000 J, the energy
available for the secondary
consumer is

(A) 01 J
(B) 10 J
(C) 100 J

(D) 1000 J

Which of the following cannot be
recycled in an ecosystem?

(A) Nitrogen
(B) Oxygen
(C) Water

(D) Energy

The highest amount of carbon
dioxide is evolved from

(A) ocean
(B) forest
(C) river

(D) None of the above

Which of the following processes
does not affect the nutrient flow in
ecosystem?

(A) Parasitism
(B) Predation
(C) Migration

(D) Production
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Which one of the following is not
responsible for biodiversity loss?

(A) Coextinction
(B) Ex-situ conservation
(C) Alien species invasion

(D) Deforestation

The concept of ‘hot spots’ was first
introduced by

(A) David
(B) Simpson
(C) Mayer

(D) Myers

Tiger is not a resident of which one
of the following national parks?

(A) Gir
(B) Bandhavgarh
(C) Ranthambore

(D) Jim Corbett

World Summit on sustainable
development was held in 2002 in

(A) Brazil
(B) Argentina
(C) South Africa

(D) Sweden
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Snow blindness is caused due to
(A) acid rain

(B) ozone hole

(C) greenhouse effect

(D) nuclear war

‘Knock knee’ syndrome occurs due
to the pollution by

(A) nitrates
(B) phosphates
(C) fluorides

(D) None of the above

Which one of the following is the
most suitable indicator of SO,
pollution?
(A) Algae
(B) Fungi

(C) Lichen

(D) Conifer

Photochemical
contains

smog always

(A) O3z
(B) CO
(C) CH4

(D) PO4
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The Air (Prevention and Control of
Pollution) Amendment Act, 1987
included which one of the following
as pollutant?

(A) Noise

(B) Dust

(C) Smoke

(D) Fluoride

Air pollutant causing damage to
cereals, fruits and cotton is

(A) oxide of nitrogen
(B) SO,
(C) fluoride

(D) O3

The animal species controlling the
ecosystem functioning is called

(A) edge species
(B) pioneer species
(C) keystone species

(D) umbrella species

Breakdown of detritus into small
particles by detritivores is called

(A) catabolism
(B) leaching
(C) fragmentation

(D) humification
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